Solutions to Chapter 3-Chapter 4 Exam Review.notebook June 06, 2016
Mgﬁgﬂ (iapTERS S & 4 REVIEW
Lov= (x+9)(x-5)
' X+9=0 x-5=0
X=-9 x=5 /- \
X=ints: -9 and 5
. %:;:-‘-_TCX-!-S)E—S
Nertex . (—§J-8}
Axis of S\:rﬁ;r\sle-l-rgg ==5 B
3. y= -6(x+3)+9 A
Nertex: ("’3;2:’ Opens Downward
Domains {Xli‘x&'ﬁ,}. P\?ﬁaai {\f l\!-“-"- A, YER
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! ,r %
4. v= 3 (x+1)'+9
/ L{- C
NerteX s (—1,9) Opens Upward

5. y=-2x"+8x+9 (Tofind vertex=> tomplete. the square
y=-2AX=Hx)+9

= =2 2 Lx+4-4)+9
= 3 (x=ax+4)>4]+9
N=-2 (X-2)Y-4]+9
= m 2022+ 8+ Y
= =2 (X=2) +17
Vertex: (2,17) A

6. \-’23(%-!*.’2)2“-'7 (Ver+ex Form)
v= 3(x+2)(X+2)-7
V= 3(X5% 2x+2x+4)-T
V= 3K+ Hx +4)-7
INJ= BX*4+ 12X+ 12,-77 /5\
= 3xE+12x+S5 (Standard Form)
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7. -2%*-54x-340=0
a="2, b=-84, ¢=-340

=-b¥ Jb2-4ac
2q
X = 84 % (=54 F=2)(=340)

2.)
Y=84% {2916-90720
_i_’ B
p 5%1‘-%\)1%
X=584*14
-4
X=84+ |4 and x=S4-I4
— L} — ot
A= bl X= 40
i &, D
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B It ywe= DL,
AX*=2Hx-26 =0
a=2, b=-24, c=-26
X=-bIJh*-4Hac
Q
x= 91+ JCN=HGER0)
.

X= 24 *J57¢ + 208

X= 24% \Jﬁ—;_gT}ﬁ

ot

A= 24L 238
: =
X=24+28 and X=24-2%

= o+
AR Od, X= -{*},_.

L_i..

N= A8, X =~ C
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9. 1x*>-400= (CDH—HC £ S
(9x-20)(Q x+20) ) %MWS)

gx- 5??0 =0 qx+%o=o
x=20 =-20
ol 4 T
X= 20 X=m =20 A
q g .r’r_"i
10. (x=12)(X+11)=0
X_]QJ:O X‘\"\l\ O |
X= 12 X==1] D
1l X*+22x+ K
- (2._21\12-
= (|
1t C
12,. \7r=‘—}cixz ~05x+87 (Discriminant).
QT*L"-Cin‘-‘C' S) c=R.7
D= b-Hac
= 0o.5)=4H.9)(R.7)
= 0.25 -170.82%
= -170.27

Since CD'iC)) ne real roots. C
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L, L«b& +-2H X = Q{:;}
= +6 =
= H(X~2) (>§<+8) 3
. X*+S5%-300
(x+20)(x-15) A

—X*=oX-6 => A

\.

2.N= X=3x =3 _=>

3. y==(X+IN+=>C

4. V= *2(x+3) +=> D
5. y=- (X+6)*'+3 => E

SHORT ANSWER

-3%x*+ 12x-10 (Stardard Form)

-3 (X*= %x+%) 41]-10
= —3L0x52)%4 1-10
U=3(X-2)2+12-10
= =)+ 2

2. X+ 32x+ K
K= (32)

Nl il

(e)*
R e
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3.

g 3

N

2 Cx—=2.) + 200 x=2) +M8
Aot r=%X-2

Ar*+20c+4%
20r2+ Jor +24).
2.0+ )or+6 )
VL2441 [(x-2)+ 6]
L IX+2)(X+H4)

X= 4= =0
a=|, b=4%, c=-2I

X= - \]r_ b*-4Hac
2.Q
X= -4 & (33020
20))
X= -4\l + 8%
v

N=~4% slon

3,
X=-4% 10
2,
=-4+10 and X=-H-IC
2, -7
X= & = -1
2. 2,
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5 y=3X*-10Xxt+6
=3, b=-10, Cc=6
X=-bt{b*Hac

—_— e —

2q
X= 10T NCIOY-HEBX6)

X=58=%x {7 (Exact+ Roots)
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